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dNjets
[pb] Tot[%] stat [%] JES [%] JER [%] Eff [%] Lumi [%] XSec [%] PU [%] LES+LER [%] Unf sys [%]

= 0 618. 2.7 0.030 0.80 0.084 0.012 2.5 0.018 0.042 0.012 0.30
= 1 97.7 4.5 0.097 3.7 0.33 0.087 2.5 0.024 0.32 0.019 0.32
= 2 22.3 4.9 0.23 4.2 0.19 0.073 2.6 0.034 0.37 0.023 0.53
= 3 4.75 6.2 0.56 5.5 0.29 0.20 2.6 0.035 0.64 0.082 0.44
= 4 1.11 7.6 1.4 6.8 0.14 0.048 2.6 0.054 0.88 0.12 1.1
= 5 0.265 8.1 3.4 6.7 1.0 0.18 2.6 0.051 0.45 0.40 0.43
= 6 0.0609 13. 9.4 8.0 0.58 0.98 2.7 0.13 2.3 0.42 3.8
= 7 0.0131 30. 27. 9.6 2.4 0.82 2.4 0.055 4.0 2.8 5.0
= 8 0.00514 29. 25. 12. 3.1 0.78 2.5 0.015 2.0 4.4 3.3


